
 

 

    

 
 
 

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

SECADORA MDE20CSAYW0 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 
 



 

 

    

 
 
 

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Guía Número de parte Descripción  
1 Drum Support Roller Shaft - Right Hand  WPW10359271 
2 Screw, 8/18 x 3/8 WP90767 
3 Screw, 8/18 x 3/8 WP90767 
4 HOUSING W10135254 
5 DUCT-AIR WP3387911 
6 PLUG 8066086 
7 Seal, Outlet Housing WP697813 
8 Nut,3/8 x 16(R.H.) WPW10080210 
9 PIPE-EXHST 279936 

10 Clip, Exhaust Pipe 8572105 
11 Single Hex Head Screw WP489069 
12 Heater Box W10802681 
13 SCREW 0056545* 
14 ELEMENT W10864898 

14A ELEMENT W10157669 
15 Clip-Spring WP8066208 
16 Nut, 3/8-16 (L.H.) WPW10080190 
17 BULKHEAD W11299300 
18 WASHER W11236646 
19 Drum Support Shaft - Rear Shaft with  WPW10359272 
20 Roller Support Tri-Ring WPW10512946 
21 Dryer Drum Support Roller WPW10314173 
22 Thermostat WPW10178809 
23 HOUSNG-OUT W11129408 
24 High Limit Thermostat and Thermal  279973 
25 DRUM W10545923 
26 SCREW W10853898 
27 Dryer Drum Seal with Adhesive 280114 
28 Spring, Lint Screen Door WP3394986 
29 BRACKET 8066099 
30 Bulkhead, Front WP697557 
31 SCREW 0056545* 
32 High Limit Thermostat - L295-50F WP3391914 
33 Outlet Screen Door Grille W11086603 
34 Thermal Fuse Use Part # WP3392519 14210008 
35 Blower Housing Seal WP697770 
36 Lint Filter W10120998 

SECADORA MDE20CSAYW0 
 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 
 



 

 

    

 
 
 

 
  

Guía Número de parte Descripción  
37 Blower Wheel WPW10349492 
38 Dryer Lint Screen Cover W11222846 
39 Cover Screw WP308685 
40 Baffle, Drum WPW10113136 
41 Exhaust Duct WPW10128606 
42 Thermostat, 140 F Cycling WPW10131836 
43 Screw - 10-16 x 1 WP3387230 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

SECADORA MDE20CSAYW0 
 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 
 



 

 

    

 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
 
   

 

SECADORA MDE20CSAYW0 
 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 



 

 

 
 

 
  

Guía Número de parte Descripción  
  Leveling Foot 49621 
1 Cover Screw WP308685 
2 Door Switch and Actuator Kit 279782 
3 CLIP 3391846 
4 SCREW 0056545* 
5 Door Switch and Actuator Kit 279782 
6 Terminal Block - Block Only WP3397659 
7 CABINET W11417441 
8 Leveling Foot 49621 
9 Clamp-Motor WP660658 

10 Spring WPW10446781 
11 Retainer-Idler 1/4-20 x 1/16 WP3389420 
12 Door Catch Kit LA-1003 
13 Restrainer, Belt WP3393657 
14 SCREW 681615 
15 Control Panel W10242810 
16 Wire, Broken Belt Switch W10167612 
17 WEDGE 356674 
18 PLUG W10191265 
19 Clip W10191265 
20 WIRE 3398948 
21 Door Hinge WPW10279703 
22 Door Catch Kit LA-1003 
23 BOOT-FOOT WP3391943 
24 BUMPER 693152 
25 Screw WP3395530 
26 Nut, 8 U-Type WPW10131123 
27 MOTOR-DRVE WPW10131123 
28 Motor Pulley - 60 Hz. WP8066184 
29 Lock, Top WP8066184 
30 Drive Belt WPW10131172 
31 Seal, Door WP3390735 
32 Bracket, Motor WP3387118 
33 WASHER W11089212 
34 Terminal and Wire Kit 279318 
35 Terminal Block Screw Kit 279393 
36 DISCONTINUED N/A 

 
 
 
 
 

SECADORA MDE20CSAYW0 
 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 



 

 

    

 
 
 

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Guía Número de parte Descripción  
37 SCREW W10850756 
38 Single Access Panel Spring Retainer/Clip WP3388229 
39 PULLEY-IDR WPW10344193 
40 Lever, Snap Switch WP8066120 
41 Dryer Door Switch WP3406107 
42 Screw, 6-20 x 1 1/16 WP98129 
43 Dryer Toe Panel WP3406797 
44 Seal, Front Panel WP3387242 
45 Screw WP488627 
46 HANDLE W11209427 
47 DOOR-REAR 280083 
48 Screw, 8-18 X 5/16 WPW10139210 
49 Door WPW10322546 
50 CORD-POWER W11226826 
51 CLIP 694415 
52 Wire Tie WPW10155270 
53 PAD W11113654 
54 Side and Bottom Vent Kit W10470674 
55 Dryer Side Vent Hole Cover WPW10404617 
56 Elbow WPW10416072 
57 SCREW 0056545* 
58 Cover WPW10354249 
59 Exhaust Pipe & Bracket WP8563747 
60 PIPE-EXHST WPW10331278 
61 Exhaust Pipe (Long) WP8563749 

SECADORA MDE20CSAYW0 
 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 
 



 

 

    

 
 
 

 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

SECADORA MDE20CSAYW0 
 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 
 



 

 

    

 
 
 

 
  

Guía Número de parte Descripción  
2 Screw, 8-32 X 1/4 W10139100 
3 BRACKET W10461070 
4 PANEL-CNTL W10461094 
5 Cover, Terminal Block WPW10119283 
6 Lens, Pilot Light Amber WPW10133502 
7 Knob WPW10133507 
8 Top WPW10136707 
9 PLATE 3353813 

10 SCREW W10841059 
11 OVERLAY W11091962 
12 LIGHT W10662107 
13 Cycle Selector Switch WPW10327105 
14 Pts Switch W11097274 
15 Screw, 8/18 x 3/8 WP90767 
16 PANEL-REAR W11089934 
17 SCREW 0056545* 
18 HARNS-WIRE W10129843 

18A HARNS-WIRE W10164588 
19 SCREW 303776 
20 Timer & Harness Assembly WPW10135259 
21 Harness, Timer W10177791 
22 Timer Cam WP3387974 

22A Cam WP343777 
23 Screw WP356418 
24 Funnel, Coin W10133509 
25 SCREW 3349065 
26 BEZEL - PTS W10510149 
27 Cushion WP3954812 
28 DOOR W11283272 
29 Screw, 8-18 X 5/16 WPW10131119 
30 CASE *COMMERCIAL ONLY* WPW10529172 
31 COIN CHUTE WP3406965 
32 CAM W11401086 
33 Extension WPW10153513 

 

SECADORA MDE20CSAYW0 
 

BENITO JUÁREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEÓN TEL: 8183377999 Y 49 
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SÁBADOS DE 8:30 A 2:00 PM 

www.denek.com 
 


